



Name: _____

Date: _____ Score: _____

$$\left(-\frac{3}{4}\right)^0 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{4}\right) - \frac{1}{3} =$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{3} =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{1}{2}\right) - \frac{1}{6} =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{3} =$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{4}\right) - \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{3}{4} =$$

$$\left(\frac{3}{5}\right)^0 - \frac{1}{2} =$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{2}\right) =$$



Name: _____

Date: _____ Score: _____

$$\left(-\frac{3}{4}\right)^0 + \left(-\frac{1}{6}\right) = \frac{5}{6}$$

$$\left(\frac{3}{4}\right) - \frac{1}{3} = \frac{5}{12}$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{3} = \frac{4}{9}$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{3}\right) = \frac{8}{27}$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{1}{5}\right) = \left(-\frac{2}{15}\right)$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{3} = \frac{52}{75}$$

$$\left(\frac{1}{2}\right) - \frac{1}{6} = \frac{1}{3}$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{3} = \left(-\frac{13}{48}\right)$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{187}{320}\right)$$

$$\left(-\frac{3}{4}\right) - \frac{1}{2} = \left(-\frac{5}{4}\right) = \left(-1\frac{1}{4}\right)$$

$$\left(\frac{1}{6}\right)^3 - \left(-\frac{3}{4}\right) = \frac{163}{216}$$

$$\left(-\frac{1}{3}\right)^3 - \left(-\frac{1}{5}\right) = \frac{22}{135}$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{5}\right) = \frac{211}{1080}$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{3}{4}\right) = \frac{7}{9}$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{3}{5}\right) = \frac{53}{80}$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{1}{150}\right)$$

$$\left(-\frac{1}{5}\right)^3 + \frac{3}{4} = \frac{371}{500}$$

$$\left(\frac{3}{5}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(\frac{1}{5}\right)^2 - \frac{1}{4} = \left(-\frac{21}{100}\right)$$

$$\left(-\frac{1}{4}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{33}{64}\right)$$